
GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 
Sales +46 44 454 20 | info@glimakra.com | www.glimakra.com | Org.no 556120-7837  
VAT.no SE556120783701

GLIMAKRA
OF SWEDEN

S E E N

M O N T E R I N G S A N V I S N I N G  /  ASSEMBLY INSTRUCTIONS        	

	     2024 10 07

L i m b u s  L i g h t / S o f t / S o f t 4 0 / 
B o r d s s k ä r m / D e s k - u p  s c r e e n

Vi rekommenderar att du följer våra monteringsanvisningar för att säkerställa att din möbel från 
Glimakra of Sweden varar i många år. / We recommend that you follow our assembly instructions 
to ensure that your furniture from Glimakra of Sweden lasts for many years.



S E

E N

1 . 4 .

3 .

5 .

F I T T I N G S  A N D  S C R E W S :
1.	 Fitting Angle
2.	 Fitting Stable
3.	 Fitting 30
4.	 Allen screw M6x20
5.	 Allen screw M6x25
6.	 Stop screw M8x8

S KR U V  O C H  B E S L AG :
1.	 Vinkelbeslag     
2.	 Stabilbeslag                                      
3.	 Fästvinkel 30                                                                                                                    
4.	 Insexskruv M6x20
5.	 Insexskruv M6x25
6.	 Stoppskruv M8x8   

E N      F ITTING ANGLE   

A .  Front screen

S E       VINKELBESLAG 

A .  Frontskärm 

A

2 .

6 .



E N      F ITTING STABLE 

B .  Front screen with toolbar and fitting 
Stable.

(Fitting Stable is used if the screen has 
toolbar).

S E       STABILBESLAG 

B . Frontskärm med tillbehörsskena och 	
stabilbeslag.

(Stabilbeslag används om skärmen har 
tillbehörsskena.)

B

E N      F ITTING 30  

C .  Gable screens with fitting 30 (used 
when there is no room for a standard 
fittings between the gable screen and the 
table frame).

S E       FÄSTVINKEL 30 

C .  Gavelskärmar med fästvinkel 30 
(används när det inte finns utrymme för ett 
vanligt vinkelbeslag mellan gavelskärm och 
bordssarg).

C



E N      ASSEMBLY   

A .  Mount the Angle fittings with Allen 
screws (4.)

ATTENTION!
When installing the fittings, it is important to 
remember that the screw should feel easy to 
screw in. Stop screwing immediately if you 
feel resistance, otherwise there is a risk of 
damaging the threads.

Remember to adjust the torque of the 
screwdriver.

S E       MONTERING 

A .  Skruva fast vinkelbeslagen med 
insexskruvar (4.)

OBS!
Vid montering av beslagen är det viktigt 
att tänka på att skruven ska kännas lätt att 
skruva i. Sluta omgående att skruva om 
du känner motstånd, annars finns risk att 
gängorna skadas.

Tänk på att anpassa skruvdragarens 
vridmoment.

A

E N      ASSEMBLY  

B .  With the help of one person, hold the 
screen with the fittings against the table 
top and screw in the allen screw (5.).

*
Hold the screen fittings firmly agaist 
the table top to avoid the screen to tilt 
outwards.

S E       MONTERING 

B .  Håll upp skärmen med beslagen mot 
bordsskivan med hjälp av en person och 
skruva i insexskruv (5.)

*
Håll upp skärmens beslag ordentligt mot 
bordsskivan för att undvika att skärmen 
lutar utåt.

B



E N      ASSEMBLY  

D .  Screw the fitting 30 (3.) or the fitting 
angle (1.) with wood screws (5.).

On fitting 30 there is a stop screw for 
adjustment of the screen inwards.

Loosen both upper and lower Allen screws 
(4.) slightly. Adjust the upper edge of the 
screen inwards with the stop screw (6.). 
With the screen in the desired position, 
first tighten the upper Allen screw (4.) 
lightly and then the lower one so that the 
screen remains in the desired position.  
Do not tighten too hard.   

S E       MONTERING 

D .  Skruva fast fästvinkel 30 (3.) eller 
vinkelbeslaget (1.) med träskruv (5.).

På fästvinkel 30 finns en justerskruv för att 
kunna luta gavelskärmen inåt.

Lossa både övre och nedre insexskruvar 
(4.) något. Justera skärmens ovankant 
inåt med stoppskruven (6.). Med 
skärmen i önskat läge, spänn först översta 
insexskruven (4.) lätt och därefter nedersta 
så att skärmen stannar kvar i önskat läge. 
Spänn ej för hårt.       

D


